
Teor�� �imov�r. ta matem. statist. ����� ����	
�� �� 
����� ��������
Vip. 86, 2012, stor. 56–68 ��� ��� ����� ��� �����

����������	 �
����
 
θ������ � �������
�

�����
����	� ���
��� �������������	

��� ������

�� ��  !"#$%&'

��������	 "()*+,-./( 010/23. Mθ/G/1/m ) 45(65147
0-13 (80+.*(5.59--,3� :2;23179--, ;2<
=13
5 (80+.*(5.59--, )4
>0-?@/A0, 5 3(32-/ B(C9/7. (80+.*(5.59--, C2;*(5(*( )93(5+2--,�
,7D( 7
+A7
0/A )93(5+2-A . 010/23
 B2;251D.@ )949-1> B(;(*(51> ;
52-A h� E-9>42-( B2;2/5(;2-<
-, F9B+909 4+, ;()B(4
+. 7
+A7(0/
 )93(5+2-A . 010/23
 B
4 C90 B2;
(4. )9>-,/(0/
 
 4+, G.-7H
I
;()B(4
+. B2;
(4. )9>-,/(0/
� 51)-9C2-9 02;24-, /;159+
0/A B2;
(4. )9>-,/(0/
� (/;139-( G(;3.<
+1 4+, 0/9H
(-9;-(*( ;()B(4
+. 7
+A7(0/
 )93(5+2-A . 010/23
 
 4+, 0/9H
(-9;-1J J9;97/2;10/17�

Abstract. We consider the Mθ/G/1/m queue with two service modes. The server switches modes of
service when the number of customers present at a service completion epoch is larger than h. Laplace
transforms for distributions of the number of customers in the system on the busy period and for the
busy time distribution function are found. Average duration of the busy time, and formulas for the
stationary distribution of number of customers in the system and for the stationary characteristics are
obtained.
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τ = inf{t ≥ 0: ξ(t) = 0}
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ϕn(t, k) = Pn{ξ(t) = k, τ > t} (1 ≤ n, k ≤ m + 1),

Φn(s, k) =
∫ ∞

0

e−stϕn(t, k) dt, Res > 0.

1������� '� ϕ0(t, k) = 0) 2� ��"�����# ������� "����� ��������	
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ϕn(t, k) =
m−n∑
j=0

∫ t

0

P{η(x) = j}ϕn+j−1(t− x, k) dF (x)

+
∫ t

0

P{η(x) ≥ m + 1− n}ϕm(t− x, k) dF (x)

+ (P{η(t) = k − n}+ I{k = m + 1}P{η(t) ≥ m + 2− n})F (t),
1 ≤ n ≤ h;
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ϕn(t, k) =
m−n∑
j=0

∫ t

0

P{η(x) = j}ϕn+j−1(t− x, k) dF̃ (x)

+
∫ t

0

P{η(x) ≥ m + 1− n}ϕm(t− x, k) dF̃ (x)

+ (P{η(t) = k − n}+ I{k = m + 1}P{η(t) ≥ m + 2− n}) F̃ (t),
h + 1 ≤ n ≤ m.
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���

��

Ãn(s) = 1 +
(
1− f̃(s)

)m−n∑
i=1

R̃i(s); Cn(s) = Rh−n(s)− f(s)
h−n∑
i=1

Ri(s)ph−n−i(s);

fn(s, k) = qk−n(s) + I{k = m + 1}qm+2−n(s);

f̃n(s, k) = q̃k−n(s) + I{k = m + 1}q̃m+2−n(s).
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Φn(s, k) = f(s)
m−n∑
j=0

pj−1(s)Φn+j−1(s, k) + f(s)pm−n(s)Φm(s, k) + fn(s, k),

1 ≤ n ≤ h,

#,%

Φn(s, k) = f̃(s)
m−n∑
j=0

p̃j−1(s)Φn+j−1(s, k) + f̃(s)p̃m−n(s)Φm(s, k) + f̃n(s, k),

h + 1 ≤ n ≤ m,

#-%

� ���
��
�� ���	��

Φ0(s, k) = 0. #.%

/�����
��� #-% �* ��*� 0� �*���� ������� ��	
�
� 	��
��
� )�
*+�! Φn(s, k)�
k = h, . . . , m� 12 ���	3��*�� 	�*������	���� ������� ( ������ 4
�5 ��� ���	3��*� ��	6

�

� 
� 	�����*�� �� ��	
����

f̃(s)
n∑

j=1

R̃j(s)p̃n−j(s) = R̃n(s)− (
1− f̃(s)

) n∑
j=1

R̃j(s)− 1, n ≥ 1, #7%

�*� 	����	�� �� ���		��
�'�

� ��� )�
*+�! R̃i(s)� �
������
��� �� #8%� ���
� ��6
������ � 	������

Φn(s, k) = Ãn(s)Φm(s, k)−
m−n∑
i=1

R̃i(s)f̃n+i(s, k), h ≤ n ≤ m. #
�%



������� �θ�	�
�� � 
����������� ������� �������������� �


������� �	
���
 ��� �������� ���

Φn(s, k)− f(s)
h−n−1∑
j=−1

pj(s)Φn+j(s, k)

= f(s)
m−n−1∑
j=h−n

pj(s)Φn+j(s, k) + f(s)pm−n(s)Φm(s, k) + fn(s, k),

1 ≤ n ≤ h.

����

���
� 
��������
���� ������� � ����� � ���� ������ ��

Φn(s, k) = Rh−n(s)Φh(s, k)

−
h−n∑
i=1

Ri(s)

(
f(s)

m−1∑
j=h

pj−n−iΦj(s, k)

+ f(s)pm−n−i(s)Φm(s, k) + fn+i(s, k)

)
, 1 ≤ n ≤ h.

����

!�����
�� �� "�����#�� ���� 
�	 Φn(s, k) "$� h ≤ n ≤ m − 1 	 �	"���
�
�� %& �
����� ������ �� ��	

	"�������

Φn(s, k) = D̃n(s)Φm(s, k)−Dn(s, k), 1 ≤ n ≤ h− 1, ��'�

"�

D̃n(s) = Cn(s)Ãh(s)− f(s)
h−n∑
i=1

Ri(s)
( m−1∑

j=h+1

pj−n−i(s)Ãj(s) + pm−n−i(s)
)

;

Dn(s, k) = Cn(s)
m−h∑
i=1

R̃i(s)f̃h+i(s, k)

− f(s)
h−n∑
u=1

Ru(s)
m−1∑

j=h+1

pj−n−u(s)
m−j∑
i=1

R̃i(s)f̃j+i(s, k)

+
h−n∑
i=1

Ri(s)fn+i(s, k).

��(�

)��$�
�� 
 ��'� n = 0� � #�������% ���
� �*� �"��+���

Φm(s, k) =
D0(s, k)

D̃0(s)
. ��,�

-�+�� �� "�
�$� ���� �
��"+����.

������� ��	� ��� ������	
� 1 ≤ k ≤ m + 1 � Re s > 0 �
��	
����� ���� ��������

	���		��∫ ∞

0

e−st Pn{ξ(t) = k, τ > t} dt = D̃n(s)Φm(s, k)−Dn(s, k), 1 ≤ n ≤ h− 1;∫ ∞

0

e−st Pn{ξ(t) = k, τ > t} dt = Ãn(s)Φm(s, k)−
m−n∑
i=1

R̃i(s)f̃n+i(s, k),

h ≤ n ≤ m− 1,

�� �
	���� Φm(s, k) �
�	���	� ����
��� ��,��



�� �� �� ���	
��


�� ������ ��	
���
�� �� 
�����
��
�	 ��������

���� ���	
�� 
������ 
������	� � ���
�	 �������
��� 

���� ���
� ������
�
� ! 	� ��� ��"� 1 ≤ k ≤ m+1 �� ��
������ #������ 
����� $���"����	" �	�������
	��" �"����	"%∫ ∞

0

e−st P{ξ(t) = k, τ > t} dt =
m∑

n=1

anΦn(s, k) + am+1Φm+1(s, k). &'()

*���������! ��

ϕm+1(t, k) =
∫ t

0

ϕm(t− x, k) dF̃ (x) + I{k = m + 1}F̃ (t);

Φm+1(s, k) = f̃(s)Φm(s, k) + I{k = m + 1}1− f̃(s)
s

,

" �������	������ �
"��"����
��� &'+) 	� &',)! ���
�� �
	�� �� ���
���	� 
����
���	��� &'()∫ ∞

0

e−st P{ξ(t) = k, τ > t} dt

=
(h−1∑

n=1

anD̃n(s) +
m∑

n=h

anÃn(s) + am+1f̃(s)
)

Φm(s, k)−
h−1∑
n=1

anDn(s, k)

−
m−1∑
n=h

an

m−n∑
i=1

R̃i(s)f̃n+i(s, k) + am+1I{k = m + 1}1− f̃(s)
s

.

&'-)

.�� �	������� ��/���
��� ���
∫∞
0 e−st P{τ > t} dt �
�/�"��� 

�
$	� � �"����	"

&'-) �� ��������� 
� k �"� ' �� m + 1�
0
����� 

�
����	�� ! ��

m+1∑
k=1

fn(s, k) =
∞∑

k=0

qk(s) =
1− f(s)

s
;

m+1∑
k=1

f̃n(s, k) =
∞∑

k=0

q̃k(s) =
1− f̃(s)

s
.

1���������
∑m+1

k=1 Dn(s, k) �
�
� Dn(s)! � &'2) �	�������

Dn(s) =
1− f̃(s)

s

(
Cn(s)

m−h∑
i=1

R̃i(s)− f(s)
h−n∑
u=1

Ru(s)
m−1∑

j=h+1

pj−n−u(s)
m−j∑
i=1

R̃i(s)
)

+
1− f(s)

s

h−n∑
i=1

Ri(s).

&'3)

4	�
! � &'-) ��
����� 	��
 	�
���
����

������� ��	� ������������ 	
��


 ��� ������� ��������� ������� �
�����
�� 
��


���� Mθ/G1/1/m �
� ������∫ ∞

0

e−st P{τ > t} dt =
(h−1∑

n=1

anD̃n(s) +
m∑

n=h

anÃn(s) + am+1f̃(s)
)

D0(s)

D̃0(s)

−
h−1∑
n=1

anDn(s)− 1− f̃(s)
s

(m−1∑
n=h

an

m−n∑
i=1

R̃i(s)− am+1

)
.

&'5)



������� �θ�	�
�� � 
����������� ������� �������������� ��

��������� �	
���
���� �
�	����� ��� �
�
���� � ���� �� ������� ��� s → +0� ���
��������������
�� ������������� {pi}� {qi}� {Ri}� �� ��

�� � �!�� �� �������������

{p̃i}� {q̃i}� {R̃i}� �� ��

�� ���������"
�����

p̃i = lim
s→+0

p̃i(s), R̃i = lim
s→+0

R̃i(s), q̃i = lim
s→+0

q̃i(s).

�������#
�� $�

f(0) = f̃(0) = 1; lim
s→+0

1− f(s)
s

= m1; lim
s→+0

1− f̃(s)
s

= m̃1;

Ãn(0) = 1; Cn(0) = Rh−n −
h−n∑
i=1

Riph−n−i = p−1Rh+1−n; Rn −
n∑

i=1

Ripn−i = 1,

 ��!� � ��%� ��
�&���

D̃n(0) = Cn(0)−
h−n∑
i=1

Ri

( m−1∑
j=h+1

pj−n−i + pm−n−i

)
= Rh−n −

h−n∑
i=1

Riph−n−i = 1;

Dn = Dn(0) = m̃1

(
Cn(0)

m−h∑
i=1

R̃i −
h−n∑
u=1

Ru

m−1∑
j=h+1

pj−n−u

m−j∑
i=1

R̃i

)
+ m1

h−n∑
i=1

Ri.

'���� �
�
���� � �������� ���� �� ������� ��� s → +0 ��������� (������ ���
�
�
��)�* ���������� �
�����  �+��������

������� ��	� ������� ���	
��
�� ������� �
�����
�� 
�
���� Mθ/G1/1/m 	��

��
�
���
� � 	������

E τ = D0 −
h−1∑
n=1

anDn − m̃1

(m−1∑
n=h

an

m−n∑
i=1

R̃i − am+1

)

= m1

( h∑
i=1

Ri −
h−1∑
n=1

an

h−n∑
i=1

Ri

)

+ m̃1

(
p−1R(h)

m−h∑
i=1

R̃i −
m−1∑

j=h+1

rj(h)
m−j∑
i=1

R̃i −
m−1∑
n=h

an

m−n∑
i=1

R̃i + am+1

)
,

�,-�

��

R(h) = Rh+1 −
h−1∑
n=1

anRh+1−n; rj(h) =
h∑

u=1

Rupj−u −
h−1∑
n=1

an

h−n∑
u=1

Rupj−n−u.

��������� �	�
&
����� 

��� � ����� $� ������+ ����� ����  �����
�) � ����������
�)���� �����������+ �� ����� ���)�����  �����
�) ��� ����
�� Mθ/G1/1/m �����  �

������ $� ���
����
�� ���������� ���������� �
��
�� θn� βn � β̃n ����

���� ��	��
b1 < ∞� m1 <∞� m̃1 < ∞�

'
�
+�
�� �� ���
�
��� (����� ��� ������������� �� ������ ���)�����  �����
�
�) � ����
��� '� ��
��� 

�
 τi� i = 0, 1, 2, . . . � τ0 = 0� ���������� ���
��� 
���
 ���)�
��� ����
�� ���  �����
�)� .�� ������ $� τ1 = τ �

/
��+ ξi� i = 0, 1, 2, . . . � ξ0 = 0� 0 ���������� ���
����� ������# ����
�� �����
���
���� τi �� 
��� ���	���� 

�����* �����  �����
�)� 1

������ $� ξi 0 ���� ���
���� �� �����
�� ��������� �
��
���  �����
���� λ� � ���
��� ξi+τi� i = 0, 1, 2, . . . �
�����##�) ����
� �������
���� '� ��
��� 

�
 H(x) (�����# �������
���� ���



�� �� �� ���	
��


���������� �	�
� ����
��� �����

H(x) =
∞∑

i=0

Φ∗i(x),

�
 Φ(x) = P{τ + ξ1 < x}� Φ∗k(x) � k������� ������� ������� ��������� Φ(x)� ���
0 < k ≤ m + 1 ��������	�� ��������

P{ξ(t) = k} = P{ξ(t) = k, τ ≥ t}+
∫ t

0

P{ξ(t− u) = k} dΦ(u),

P{ξ(t) = 0} = P{τ < t, τ + ξ1 ≥ t}+
∫ t

0

P{ξ(t− u) = 0} dΦ(u).

 �!
�

P{ξ(t) = k} =
∫ t

0

P{ξ(t− u) = k, τ ≥ t− u} dH(u), k = 1, . . . , m + 1;

P{ξ(t) = 0} =
∫ t

0

P{τ < t− u, τ + ξ1 ≥ t− u} dH(u).

"�������#��	 �������� �
��

�� �������
��� $%&� '� &()� ���*���
� �������

lim
t→∞P{ξ(t) = k} =

λ

1 + λE τ

∫ ∞

0

P{ξ(u) = k, τ ≥ u} du, k = 1, . . . , m + 1;

lim
t→∞P{ξ(t) = 0} =

λ

1 + λE τ

∫ ∞

0

P{τ < u, τ + ξ1 ≥ u} du.

 ����	�� P{τ < u, τ + ξ1 ≥ u} = P{τ + ξ1 ≥ u} − P{τ ≥ u}� ��∫ ∞

0

P{τ < u, τ + ξ1 ≥ u} du =
1
λ

. +,%-

.
�
/0��0� � �������� +%1- �� ������� ��� s → +0� ��
�!�
� ���������0
���∫ ∞

0

P{ξ(t) = k, τ > t} dt

= p−1Rh+1

m−h∑
i=1

R̃if̃h+i(k)−
h∑

u=1

Ru

m−1∑
j=h+1

pj−u

m−j∑
i=1

R̃if̃j+i(k) +
h∑

i=1

Rifi(k)

−
h−1∑
n=1

an

(
p−1Rh+1−n

m−h∑
i=1

R̃if̃h+i(k)

−
h−n∑
u=1

Ru

m−1∑
j=h+1

pj−n−u

m−j∑
i=1

R̃if̃j+i(k) +
h−n∑
i=1

Rifn+i(k)
)

−
m−1∑
n=h

an

m−n∑
i=1

R̃if̃n+i(k) + I{k = m + 1}m̃1am+1,

+,,-

�
 fn(k) = qk−n + I{k = m + 1}qm+2−n; f̃n(k) = q̃k−n + I{k = m + 1}q̃m+2−n.
2 +,%-�+,3- ����� �
�������* �
�
����
�	 ����
��
� ���
 ��
��!
����

������� ��	� ����������	
 �����
�� ��������� ��������� � �	����� Mθ/G1/1/m
�	���������� �� ��������	

ρ0 =
1

1 + λE τ
; ρk =

λ

1 + λEτ

( k∑
i=1

Riqk−i −
h−1∑
n=1

an

k−n∑
i=1

Riqk−n−i

)
+,3-



������� �θ�	�
�� � 
����������� ������� �������������� ��

��� k = 1, . . . , h�

ρk =
λ

1 + λEτ

(
h∑

i=1

Riqk−i −
h−1∑
n=1

an

h−n∑
i=1

Riqk−n−i + p−1R(h)
k−h∑
i=1

R̃iq̃k−h−i

−
k−1∑

j=h+1

rj(h)
k−j∑
i=1

R̃iq̃k−j−i −
k−1∑
n=h

an

k−n∑
i=1

R̃iq̃k−n−i

)

��� k = h + 1, . . . , m ��

ρm+1 =
λ

1 + λEτ

(
h∑

i=1

Riqm+1−i −
h−1∑
n=1

an

h−n∑
i=1

Riqm+1−n−i

+ p−1R(h)
m−h∑
i=1

R̃iq̃m+1−h−i −
m−1∑

j=h+1

rj(h)
m−j∑
i=1

R̃iq̃m+1−j−i

−
m−1∑
n=h

an

m−n∑
i=1

R̃iq̃m+1−n−i + m̃1am+1

)
.

�� ���������� 	
���
������ �����
���	
��

��� ����	
� � �

	�	��� �	���� �� �������
 �������	���
 ��
���	�� �	���
��
���	���� ��� ���
������ � 
�
	�� ����� ���� ������� ����� �	 
���������� 
� 
���� 
��� �����	�� !��"� ��
���� ��������� ��
���	�� �	�	��"�� ����� m + 1#�
$�
�� ��"� a1 < 1� �� ��� ��%�& ����	
� Mθ/G1/1/m '��
���

P�� = 1− ρm+1

��� �
����	��� �
��������� �
������������ �	������
(��
��� ��� P�� ����
��
� �� �����)� ��� t → ∞ �����%	��� ��������� �
 

����	��� ��
���	�� �� ��������� ����� "� �����%�� �� ��� t� *	�	��� ���������
��
���	��� ��� ���
��� �� ���� ����	
� �� ��� t� �������� λb1t� � �	�	��� ���������
�
����	��� �� ��� ��
�� ��� ���������

(
1 − ρ0

)
t/M1� �	 M1 + �	�	���� ��� �
��� 

��������� ������ ��
���	���� ���� 
���� ��������� �� '��
����

1
M1

=
E ω

m1 E τ
+

Eω̃

m̃1 E τ
.

$�� Eω � E ω̃ + �	�	��� ���������� ������ �	����� ����������� ��� ������������
�������
� � �������������
� �	��
�
 �
������������ ����������� ,�������������
���������%	��� !-.# ��� E τ � ����
��
� ���� '��
��� ��� �
��������� �
������� 
�����

P�� =
m̃1 Eω + m1Eω̃

b1m1m̃1

(
1 + λEτ

)
=

1
b1

(
1 + λE τ

)
×

( h∑
i=1

Ri −
h−1∑
n=1

an

h−n∑
i=1

Ri + p−1R(h)
m−h∑
i=1

R̃i

−
m−1∑

j=h+1

rj(h)
m−j∑
i=1

R̃i −
m−1∑
n=h

an

m−n∑
i=1

R̃i + am+1

)
.

!-/#



�� �� �� ����	
��

����������� 	���
����
��
� ����� � 
������ ������� ����� EQ � 
������� ��

���
������ E w ���	����� �� ���������

E Q =
m∑

k=1

kρk+1; E w =
EQ

λb1P
�
. ����

� �������!���� ��� Ew �� ����" � ������� #����� ��� 
�
��� �$
����������� �
�������� ��������%&

������� 
��%
�
�% ��������% � 
�
���� � 
������������ ������ �������"�� ��
�� ������ �����
��

ES = EQ + 1− ρ0.

'& ������� �	
����

� ������
��
��� ���������

�� ������������� �������

(�$���"�� ��������� ��� �$��
����� Ri) qi �� R̃i) q̃i �i ≥ 1�& *��������) +� ��
��������� �� �������% ���  ��������� m � h) ���� ��� ,	 ���������, ��
��% ��������
���������"�  �� �	�����  ���
 � ��� ���� ��
� �$
����������� ����
��, F (x) ��

F̃ (x)�&
* �������% Ri) qi �� R̃i) q̃i �� ������% ��
� ��
������� 
 �������!���� ��� k ≥ 1-

R1 =
1

p−1
, Rk+1 =

Rk −
∑k−1

i=0 piRk−i

p−1
; R̃1 =

1
p̃−1

, R̃k+1 =
R̃k −

∑k−1
i=0 p̃iR̃k−i

p̃−1
;

q0 =
1− f(λ)

λ
, qk =

k∑
i=1

aiqk−i − pk−1

λ
; q̃0 =

1− f̃(λ)
λ

, q̃k =
k∑

i=1

aiq̃k−i − p̃k−1

λ
,

��

pi =
i+1∑
k=0

ak∗
i+1

∫ ∞

0

e−λx (λx)k

k!
dF (x); ��.�

p̃i =
i+1∑
k=0

ak∗
i+1

∫ ∞

0

e−λx (λx)k

k!
dF̃ (x), i = −1, 0, 1, . . . . ��'�

(�� �
����) +� ���������� �����% ���	����� ��!�  � ������ �$�  � ���" �
 ���
 ����  �����������
% �a′0 + a′1 + a′2 = 1�) � ��
 �$
����������� �
������� �
 �
�� ��������� ������� ��� �������� �� ��
���� /������ �������  ����
� �  �0

��������� μ �� μ̃ ��� ������ �F (x) = 1 − (1 + μx)e−μx) F̃ (x) = 1 − (1 + μ̃x)e−�μx)
x ≥ 0�& ������� �������� ��
� �$
����������� 
��������% m1 = 2/μ �� m̃1 = 2/μ̃
��� ������&

1���������  ��
��� � ��
��� ��
������ ������- a′0 = 0.12 a′1 = 0.6752 a′2 = 0.2252
m = 52 h = 22 λ′ = 20/92 μ = 32 μ̃ = 6& 3��� a1 = 0.752 a2 = 0.252 λ = 22 m1 = 2/32
m̃1 = 1/32 b1 = 1.25&

*� ��������� ��'� ������"��

p−1 =
μ2

(λ + μ)2
; p0 =

2a1μ
2λ

(λ + μ)3
; p1 =

3a2
1μ

2λ2

(λ + μ)4
+

2a2μ
2λ

(λ + μ)3
;

p2 =
4a3

1μ
2λ3

(λ + μ)5
+

6a1a2μ
2λ2

(λ + μ)4
; p3 =

5a4
1μ

2λ4

(λ + μ)6
+

12a2
1a2μ

2λ3

(λ + μ)5
+

3a2
2μ

2λ2

(λ + μ)4
;

p4 =
6a5

1μ
2λ5

(λ + μ)7
+

20a3
1a2μ

2λ4

(λ + μ)6
+

12a1a
2
2μ

2λ3

(λ + μ)5
.
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5������ ��� p̃i �������� � ��4�) �������!� μ �� μ̃&
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